AP*-style free response

4.1 Consder the following incomplete declaration of a Code class
which represents a code condsting of letters and digits. The
actual code iz stored internally as a String variable, myCode.
Portions of the code mav be hidden by changing the correspon-
ding letter or digit to an X. Hidden portions mav later be
recovered.

public clacs Code

{
private String mycode;
ff additicnal instance wvariahbles
public CodefString code)
{
mnyCode = code;
SO possibly additional statements
}
public String getcCoder )
{
return myCode;
}
Soprecondition: pl == 0, pl < p2,
£f 02 == myZode.lengthi )
Fi Replaces the characters in the code starting at
SO pogsition pl until positicon p2-1 inclusive with an X
public void hide(int pl, int p2)
{
S to be impl emented
}
Soprecondition: pl == 0, pl < p2,
£f 02 == myZode.lengthi )
f£f Restores to thelr original wvalues the characters in
S the code starting at position pl until position
S p2-1 inclusive
public void recoveriint pl, int p2)
{
S to e inpl emented
}
}

The methods hide and reccver work as described in the com-
ments. Mote that if hideis called for a portion of the code that
iz already hidden, it has no effect and if recover iscalled for a
portion of the code that is already “clear,” it has no effect.



Suppose the following code is created:

Code code = new Codef "LRBCdefl23ghidSejklMmo )

The following sequence of method calls results in the instance
variable myCode having the indicated values.
value of myvCode

code. hide( 2, 7); LBYEEEYZ23ghidbe jE1MNG
code. recover (b, 9 ; LBYEEF123ghidbe jE1MNG
code. hide( 3, 14) ; LBEE RN EREYE e JR1MNO
code. hide( s, 10) ; LBEE RN EREYE e JR1MNO
code. recover( b, 6); LPEEEFNEEREYEE JR1MNO
code. recover (0,14 ; LBCdefl23ghidbe jE1MNG

4. Thinking ahead to implementing the hide and reccover meth-
ods, declare in this part any additional instance variables
vou will need and anvy additicnal code vou mav need in the
COMSITUCTOT.

f£F instance wariables
String mycode;

Codae(Sering code)

{
mycode = codeg

}

b. Implement the hids method.

c. Implement the recowver metheod.



